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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic

Q1 From the following transaction prepare a triple column cash book of Shri Karan.

2006 March 1
2006 March 2
2006 March 3
2006 March 4

2006 March 5
2006 March 6

2006 March 7

2006 March 8

2006 March 11

Opening cash balance Rs.40000 and bank overdraft
balance is Rs.6000/-

Cash deposited in bank Rs.6000/-

Cash Purchase amounted to Rs.8000/-

A crossed cheque for Rs.3000 was received for cash
sales.

Withdraw from bank Rs.6000 for office expenses.
Interest of bank overdraft is recorded in the pass
book Rs.60/-

Goods of Rs.4000 were sold at 5% cash discount
and the amount received by cheque.

Cheque received on 7" March is deposited in to a
bank.

LIC Premium of Rs.2000 is paid from bank.

2006 March 21 A cheque for Rs.2200 is given to Dilip in full
settlement towards our debt of Rs.2260.
2006 March 31 Withdrawn Rs.3000 from bank for personal use.
OR
Q1 From the following particulars prepare analytical petty cash book as per imprest
system.

2009 April 1
2009 April 2
2009 April 3
2009 April 10

2009 April 15

2009 April 25

Received from Hand cashier Rs.500/-

Paid Office cleaning charges Rs.50/-

Paid News paper bill Rs.60/- and Tea Exp. Bill
Rs.30/-

Purchased Postage Stamps Rs.30 paid for Ball pen
and blank paspers Rs.40/-

Paid Labour charges Rs.25/- Rikshaw charges
Rs.10/- cartage Rs.15/-

Sent, a telegram to a supplier and paid Rs.12/- for it.
Paid Rs.100/- to Navin, a servant as a withdrawal
against salary.
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Q.2

Q.2

Q.3

(a)

(b)

A company purchased a machine on 1* January 2009 for Rs.38000 and paid the
amount by cheque. Installation charges incurred were Rs.2000 and were paid in
cash. The useful life of the machine is estimated to be 10 years and its Scrap
value is estimated at Rs.4000/- the accounts are closed each year on 31 Dec.

Find out the rate of Depreciation and amount of annual Depreciation prepare
the Machinery A/c. and Depreciation A/c. for first three years.

OR
Pass the necessary entries to rectify the following errors.
(1) Goods worth Rs.1000 were distributed as free samples.
No entry is made in the books.

(2) Rs.1500 Paid for repairing a machinery is debited to the Machinery account.
(3) Rs.3000 Paid to Virendra has been recorded in Surendra's A/c.
(4) Purchase of Rs.5000/- made from Shamil Shah has been entered in the Sales

book.
Explain the Following terms.
(1) Trade Discount  (2) Gross Profit (3) Capital (4) Insolvent
Classify the following accounts : (Any Six)
(1) Cash A/cs. (2) Capital A/cs. (3) Salaries A/cs.  (4) Bank A/cs.
(5) Drawing A/cs. (6) Income Tax A/cs. (7) Machinery A/cs. (8) Debtors A/cs.
From the Following Trial Balance of Suraj Parmar. Prepare Trading and Profit &
Loss A/cs. for the year ending 31* March 2008 and Balance Sheet as on that date

Particular Debit Rs. | Credit Rs.
Opening stock 17000
Capital & Drawings 8000 100000
Purchases 96100
Sales 172000
Wages 7400
Carriage inward 5400
Carriage Outward 2000
Salary 6000
Buildings 80000
Creditors 55600
Rent 2400
Furniture 4600
Depreciation on furniture 500
Debtors 81000
Insurance Premium 1600
Printing & Stationery 2500
Sundry Expenses 4400
Repairs 1000
Cash on hand 12500
330000 330000

Adjustments :-
(1) Stock on 31/03/2008 was Rs.7600 (2) Rs.1200 was outstanding for salaries.
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(3) Depreciate Building by 5%
(4) Insurance paid in Advance Rs.100
(5) Buildings rent received in advance was Rs.300
(6) Credit purchase of Rs.700/- was not recorded in the Book of A/cs
Q.4 (a) Record the following transactions in the Journal of Shri Govind Bros.
2009 Jan. 1  Mohan started business with cash Rs.50000.
2009 Jan. 2  Purchased goods of Rs.15000 at a trade discount of
10% from Rahul.
2009 Jan. 3  Rahul paid Rs.10000 on account.
2009 Jan. 4  Sold goods worth Rs.18000 to Narmada in Rs.17000
for cash and opened a bank account within that amount.
2009 Jan. 6 Sold goods for cash at a trade discount of 10% to
Jaimini Rs.15000.
2009 Jan. 7  Paid the following expenses. Rent Rs.1500, Wages
Rs.600, Octroi Rs.900
OR
(a) Enter the following transactions in the books of Dilip.
2008 Jan. 1 = Commenced business with cash Rs.25000, Furniture
Rs.5000, Debtors Rs.10000, Goods Rs.35000.
2008 Jan. 3 Purchased computer for Rs.21000.
2008 Jan. 4  Brought goods from Lalit for cash Rs.7500
2008 Jan. 5  Received from Rahul in full settlement Rs.8000
2008 Jan. 7 Sold Goods to Shri Vyas Rs. 35000 at 8% trade
discount & 5% cash discount.
2008 Jan. 8  Paid Cash for stationary Rs.1000, Salaries Rs.5000 and
Insurance Rs.2000.
(b) Write Notes on following (Any One)
(1) Straight line Method ? (2) Reducing Balance Method ? Depreciation
Q.5 (a) Record the following transactions in necessary subsidiary books of Shri.
Nanubhai traders 2009 March.
2009 March 2 Purchase goods worth Rs.40000 at 10% trade
discount from Zala Brothers.
2009 March 4  50% of the goods purchased from Zala Brothers sold
to Vakil Brothers adding 25% profit.
2009 March 5 Vakil Brothers returned goods worth Rs.2000 and the
same were returned to Zala Brothers.
2009 March 6  Sold goods worth Rs.20000 to Ashok Mehta and
received half of the amount in cash.
2009 March 7 Purchase goods worth Rs.12000/- from Parekh @ 5%
cash discount.
2009 March 7 Ashok Mehta returned goods worth Rs.1000.
(b) (Any One)
(A) Distinguish between Capital Expenses and Revenue Expenses.
(B) Distinguish between Capital Income and Revenue Income.
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